
gga50-3n, Bewertungsbogen: 3x5 Farbstufen, exp0=1, expg=1, inw=1, xchart=1

5/9 Farbstufen: Rot R00w − Rot R16w = W Grün G00w − Gün G16w = W Blau B00w − Blau B16w = W

R00w R04w R08w R12w R16w G00w G04w G08w G12w G16w B00w B04w B08w B12w B16w

0,00 0,00 0,000,5? 0,5? 0,5?1 / 0 1 / 0 1 / 00,5? 0,5? 0,5?1,00 1,00 1,00
visuelle
Skalierung:

Beurtei-
lungsanteil

Beurteil-
lungsanteil

0, 125, 250, 375, 500, 625, 750, 875, 1000

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00


